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Converting from Scientific Notation Name:
Rewrite each problem in standard form. Answers
1) ex10
1.
2) 268x107
2.
3) 2% 104
3.
4) 867 x10°
4,
5) 3.22x 10
5.
6) 3.85433409 x 10° A
7) 7.49x 10"
7.
8) 4.11x107
8.
9 76x10
9.
10) 9.90244738 x 10° y
11) 287 x 10°
11.
12) g3 x 107
12.
13) 208554 x 10*
13.
14) 231067516 x 10° 3y
15) 7x10°
15.
16) 205148 x 10?
16.
17) 25025967 x 10° o
18) 6.63 x 10
18.
19) 836927635 x 10° .
20) 4
1.94 x 10 "
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ﬂh Converting from Scientific Notation Name: Answer Key

Rewrite each problem in standard form. Answers

D 6x10 1 60

2) 268x10" 2 0.268

3 2x10* 3 20,000

4) 867 x 10° 4 8,670

5 322x10? 5 322

6) 385433409 x 10° 6. 385,433,409

) 7.49x 10" 7 0.749

8) 411x10* 8 0.411

9 76x10 N 76
10) 990244738 x 10° 10, 990,244.738
11) 287x10° 11 287,000
12) 83x 10 1 830
13) 2.08554 x 10 13. 20.8554
14) 231067516 x 10° 1. 231,067,516
15 7x10° 15, 7,000,000
16) 205148 x 10° 16. 205.148
17) 25025967 x 10° 17. 250,259,670
18) 6,63 x 107 18, 663
19) 836927635 x 10° 19. 8,369.27635
20) 1.94x10° 20. 19,400
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